BREMPREFTEHISE(FRME) MR SH6E 58 178 (&)
FE
B & E i = E B =z {E £ H
m B = RO
(t) ATRE® (M) (M) (M) (kg)
VA 56.3 BERE 49.2 1,350 1,296 1,188 15
IZALA 25.0 = 4.9 — 1,944 — 10 A M
ES] 28 BERE 25 2916 — 2,808 10 A 2M
ES) B K 0.2 2,187 - 2,025 3l A L
[E<E0Y 31.5 BERE 26.1 2,160 2,052 1512 150 A 6
HTE 1.5 ERS 0.3 — 1,080 - 4 A M
_EDi 5.6 2 [ 3.3 1,404 - 1,188 4 A L
Fry 94.6 BERE 78.1 2,376 2,376 2,160 10] A 8
Fry = % 16.5 - 1,620 - 10l B 10
IEF5NhAZS 3.0 2 [ 1.5 3,240 - 2,592 6] A L
hE 6.2 BERE 4.1 1,296 972 972 3 A L
_hE 1.4 &= B 1.0 3,240 - 2,592 3 M
ch¥E 12 [ 0.2 3,888 - 3,240 3l vay M
125 28 = I 0.9 3,240 2,160 1,620 5[ va1y
L) — 1.0 2 [ 0.7 4,536 — 4,320 10] A L
T RAINTGHR 0.4 FEES 0.3 189 189 184 01] vay M
H)I57— 0.9 FEES 0.9 1,620 1,566 1,350 4 6
Jnoyal)— 12.4 BERE 15 5,832 - 3,672 6] Y1y L
LAZR 27.4 E 15 14.8 1,944 1,620 1,404 10 12
FoT YA 1.1 = 0.6 1,053 — 972 3 A L
ZpoY 13.8 BERE 10.3 1,674 1,296 1,080 5/ A L
=il =l 35 1,728 - 1,566 5/ A L
MhEEP 3.0 ERE 1.6 1,728 - 1,620 10
Al 5.4 BE K 43 2,484 — 1,620 5/ A LL
B B I% 0.8 1,944 - 1,836 5] A 3L
k< 9.4 B X 49 2,376 2,052 1,944 4f A M
<k BERE 43 - 1,188 - APED) 24
=—kTk 3.1 BERE 2.6 130 97 97 02 A M
S=k<hk BE X 0.4 - 1,080 - 3l A 25
F—<> 10.6 BERE 95 5,184 4536 4212 78] A M
E58ACL 2.9 K 15 0.5 2,722 2,268 2,268 5/ A LL
*95 0.3 ERE 0.3 302 302 292 0.3
12h5Y 20 BERE 1.9 2,160 1,728 1,620 3l A L
=PVAITFA 0.3 BERE 0.3 1,944 - 1,620 2 A
SHOZIAUES 0.1 BERS 184 — 173 0.1
ZHEH
MrAL& 4.1 B X 2.9 2,376 — 1,944 5 M
IEFhiLs 28.7 E & 22.2 2,376 2,268 1,782 100 A 3L
[ESTRYONS R 15 2,700 2,700 2,592 10 A LL
IEhLs E 5 3,348 - 3,186 10 A L
[EhiLs K 15 3,672 - 3,564 10] A LL
IEFhiLs BERE 6.2 — 173 - 0.44 4
=L 0.2 BERE 0.2 4,050 3,240 3,240 5/ A L
f=FhE 34.1 dtigE - - — PR
f-FhE £ B 32.5 2,592 2,376 2,268 20] a9 L
1IZAl={ 1.0 F = 0.7 4,968 - 4752 10 4L
50FLS 2.4 BERE 24 5,400 4,860 3,780 10 A M
HELLV=T 1.1 BERE 0.1 - 108 — o1l W L
£LLV=T =l 0.7 130 130 86 01] A M
ZDEET 25 R 15 1.5 86 72 72 02 A
LoHL 15 12 [ 1.5 97 92 84 0.2
e T 404.4
BE
o A E i = E & Z {E £ H
& B = RO
(t) AR=E® (M) (M) (M) (kg)
EMAHMI AT 0.3
INGRAH DA 0.3
HEDHNA 1.8 BERS 1.8 - 2,160 - 10[ a9y L
LEY 1.3 FA)AH 1.3 10,584 9,720 9,180 17 115
N 1.6 FA)AH 1.6 8,964 8,748 8,640 17 88
JL72)LY 0.2 T AUH 0.1 6,588 - 6,264 15 48
YACE 10.7
DEPE=IAN 0.6 g5 & 0.6 7,344 7,344 6,696 10 MA
AL 8.6 5 & 8.6 3,456 — 3,240 10[ <A 36
Uh 0.3 £ 5 0.3 - 2,592 — 8 44
58 0.9 = IF 0.4 - 5,400 — 5 LL
AESE 0.3
FoHIT 0.1 2 [ 0.1 - - - PR LL
TI9IT 2 [ 734 702 648 0.25| 7hva L
To9x7F 12 [ - - - PR M
W52 25 BERE 2.1 378 324 270 025 A L
20Ot 42
7—ILA 0.6 fE K 0.2 — 8,424 — 8l 7V L
AHI 0.2 = 0.2 - 3,240 - 5] A 4L
ZFDihAOY 3.2 ERS 2.3 - 5,832 - 8 6
FULIMET 8.2
ERRY 5.9 BERS 1.4 2,376 - 2,160 5] Yay M
_EETLH 2.3 BER 1.7 4,320 3,888 3,564 100 A M
INFT 16.3 EYE: 16.1 3,996 2,808 2,376 15
NAFyTIL 47 = 4.2 - 2,322 - 10
FoA47ILY 2.2 =9 2.2 4,752 - 4,104 5.8 30
RERE 60.2




